GUIA N°3 - RESULTADOS
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I= 40m s
q,= 0,2 m x 0,4 m x 2500 kg/m "= 200 kg/ml
q,= 2,0 m x 550 kg/m 2 = 1100 kg/ml

M_x 4 +2M (4+0)+0 x 0= 6(200x4 "+5x1100x4 °)
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M,&1500x2-1183-200x2x1-1100x2x 0,66 =684,4 kgm
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y= 5x2,0x400* + 11 x 400 4
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AN JAN VAN q,=15mx250 kg/m =375 kg/ml

L L q,= 0,2 m x 0,4 m x 2500 kg/m =200 kg/ml

q, =575 kg/ml
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M 0x4+2M,(4+4)+0x4= 6(575x4 *+ 575x4 ")
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1150 kgm M = 1150 kgm

R = 862,5 kg R,= 1437,5 kg

V. =8625-575x=0  x=15m
646,87 kgm M, = 862,5x 1,5 - 575 1,5 ° = 646,87 kgm
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LTI = 40m )
A JAN g =2,0 mx 250 kg/m “= 500 kg/ml

L L 0x4+2M (4+4)+0x4= 6(500x4 * 0 )
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M =500 kgm
T I R, =875kg R,=1125kg
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V, =875-500x=0 x=1,75m
500 kgm

| M, & 875 x 1,75 - 500 x 1,75° = 765,62 kgm
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W =76562,5 =53cm”° IPE 270
765,62 kgm 1440




